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Swirly Hat

Designed by Adrienne Larson for skacel collection, Inc.

SKILL LEVEL: Intermediate

SIZE & MATERIALS:

Finished Size: Circumference at brim = 19.5”.

Featured Yarn: HiKoo® Zumie, 30% Wool, 50% Acrylic, 20% Nylon;
110 yds / 200g hank (one hank)

addi® Needles

9 mm (approximate US 13) 16” circular needle

9 mm (approximate US 13) DPNs

Additional Notions: Stitch marker, cable needle, tapestry needle

All yarn and needles distributed by skacel collection, Inc.
Gauge: 7 sts and 11 rows = 4” x 4” in Swirl Pattern

To save time, check your gauge
and read all instructions thoroughly before beginning.

STITCH PATTERN:

Note: Marker must be removed and replaced as indicated, in order

for the Swirl Pattern to develop. On odd numbered rows, marker is

simply slipped.
Swirl Pattern: (worked over a multiple of 20 sts)
Rnd 1: *SI1, k1; repeat from * to end of rnd.
Rnd 2: *LT, (LTP) 4x, (k1, pl) 5x; repeat from * to end of rnd, RM, sl1,
PM.
Rnd 3: *SI1, (k1, sl1) 4x, sl1, (k1, sl1) 4x, k1, sI1; repeat from * to end
of rnd.

Nl
Rnd 4: *(LTP) 5x, (p1, k1) 4x, p1, k1; repeat from * to end of rnd, RM,

sl1, PM.
Repeat Rnds 1 - 4 for pattern.

INSTRUCTIONS:
Hat:
CO 60 sts, PM and join to work in the rnd, making sure not to twist sts.
Work in Swirl Pattern for 5.5”, ending after working Rnd 3.
Decreases:
Notes: At this point, work can be done using Chart or text. Red and
Green abbreviations in text and chart correspond with chart legend.
Rnd 1 (Dec): [(LTP) 4x, LTPSSK, (k1, p1) 4x, k1] 3x (= 57 sts), RM,
sl1.
Rnd 2: PM, [(SI1, k1) 4x, sl1, (sl1, k1) 5x] 3x = 57 sts.
Rnd 3: [LT, (LTP) 4x, (p1, k1) 4x, p1] 3x (= 57 sts), RM, sl1.
Rnd 4: PM, [(SL1, k1) 9x, sl1] 3x = 57 sts.
Rnd 5 (Dec): [(LTP) 4x, LTPSSK, (p1, k1) 4x] 3x (= 54 sts), RM, sl1.
Rnd 6: PM, (SL1, k1) 27x = 54 sts.
Rnd 7: [LT, (LTP) 4x, (k1, p1) 4x] 3x (= 54 sts), RM, sl1.
Rnd 8: PM, [(SL1, k1) 4x, sl1] 6x (= 54 sts).
Rnd 9 (Dec): [(LTP) 4x, LTPSSK, (k1, pl) 3x, k1] 3x (= 51 sts), RM,
sl1.
Rnd 10: PM, [(SL1, k1) 4x, sl1, (sL1, k1) 4x] 3x (= 51 sts).
Rnd 11 (Dec): [LT, (LTP) 3x, LTPSSK, (k1, p1) 3x] 3x (= 48 sts), RM,
sl1.
Rnd 12: PM, [(SL1, k1) 4x, sl1, (sL1, k1) 3x, sl1] 3x (= 48 sts).
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Rnd 13 (Dec): [(LTP) 4x, LTPSSK, (k1, p1) 2x, k1] 3x (= 45 sts), RM, RM Remove Marker

sl1. rnd(s)  round(s)

Rnd 14: PM, [(SL1, k1) 4x, sl1, (SL1, k1) 3x] 3x (= 45 sts). sl slip as if to purl

Rnd 15 (Dec): [LT, (LTP) 3x, LTPSSK, (k1, p1) 2x] 3x (= 42 sts), RM, SSK Slip 2 stitches knit wise, one at a time, from the left needle to
sl1. the right needle, then insert the left needle into the front of
Rnd 16: PM, [(SL1, k1) 4x, sl1, (SL1, k1) 2x, sl1] 3x (= 42 sts). the slipped stitches and knit them together (decreases 1
Rnd 17 (Dec): [(LTP) 4x, LTPSSK, k1, p1, k1] 3x (= 39 sts), RM, sl1. stitch).

Rnd 18: PM, [(SL1, k1) 4x, sl1, (SL1, k1) 2x] 3x (= 39 sts). X times

Rnd 19 (Dec): [LT, (LTP) 3x, LTPSSK, k1, p1] 3x (= 36 sts), RM, sl1.
Rnd 20: PM, [(SL1, k1) 4x, sI2, k1, sl1] 3x (= 36 sts).

Rnd 21 (Dec): [(LTP) 4x, LTPSSK, k1] 3x (= 33 sts), RM, sl1.

Rnd 22: PM, [(SL1, k1) 4x, sI2, k1] 3x (= 33 sts).

Rnd 23 (Dec): [LT, (LTP) 3x, LTPSSK] 3x (= 30 sts), RM, sl1.

Rnd 24: PM, [(SL1, k1) 4x, sl2] 3x (= 30 sts).

Rnd 25: [(SSK) 5x] 3x (= 15 sts).

Rnd 26: Knit.

Break yarn and pull through remaining stitches. Weave in ends.

ABBREVIATIONS:
(60) Cast On
k knit #037 (Gun Metal Grey), #117 (Dark Orchid), and #113 (Electric Pear).
LT (Left Twist) Slip one stitch to cable needle and hold to front, Legend:
knit one stitch, knit stitch from cable needle. LI =Knit
LTP (Left Twist Purl Back) Slip one stitch to cable needle and [] =slip(asiftopur)
hold front, purl one stitch, knit stitch from cable needle. =] =Purl
LTPSSK (Left Twist Purl Back, Slip, Slip, Knit) Place one stitch on [ =nNostitch
cable needle, hold to front, purl next stitch, place stitch from =Slip 1, Slip 1, Pass slipped stitch over
cable needle back on left needle, slip two stitches, one at a ] =Remove Marker, sl1, place marker
time, and then knit both together through the back loop. o] =LT(leftTwist
(twisted dec) [S=] =LTP (LeftTwist Purl Back)
p purl = LTPSSK (Left Twist Purl Back/SSK)
PM Place Marker
Swirl Decreases Chart
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Swirl Pattern: Repeat between bold lines around, then slip markers as indicated.
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